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AC =68,
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@ 68 V6 cm? ® 125 V6 cm?
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FH =5v2cm , AE = BF = FH x tan 30 °
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HoE=5x5x% (cm?)

3 3




9. o3 I1¥2/ABH =60° ¢l ¢&
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AH = 10sin30°=5
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o gilig=

wh2kA /A = 180° — (75° + 75°) = 30° ©] 1,

1
AABC = 5 X6 6 xsin30° = 9(cm?) °]t}.




13.

ohe 1Y 22 BHER ABCD
o Wol7t 12v3 & o, B R
9] PolS x 2t 5hA 42 & 7
shi?

® 10 @ 15 ® 20
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@113 @ 114 ® 115 @ 117 ® 119

(Wo]) = 1 x 12 x 20 X sin 70°

= §x12x20x0.94
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mebA ABOC = % X 8 X 8 X sin 30° = 16 cm? ©| T},
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AH = AD cos60° =6
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T sin | cos | tan

22°10.37(0.93(0.40

50° 10.77]0.64|1,20

@® 150 cm? @ 160 cm? ® 180 cm?

AABD ©|A AD = BDtanB = 10tan50° = 10 x 1.20 =
12( cm)
AD 12

= — = (o]
tan2z — 04g = So(em) °IE.

w2t AABC = % X (10 4 30) x 12 = 240( cm?) ©]t}.

AACD 94 CD =




O A% bE L W, a=bsinA, c =bcosA°|Tt.

@ AStcE YW, a=ctanA, b= € _ o)},
cos A

AStas g b= =% o
® etas &, sinA’c tanA]
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© 25(V3-1)m @ 50m
@50 (V3+1)m @ 100 (V3+1)m
® 150m

B ~
A
\
A5° :‘B

1
/

. 0° 45°
100m’C H
tan45° = C—H

X

- CH = xtan45°
BH = xtan60°
BC=BH-CH = xtan60° — xtan 45°
x(tan 60 ° — tan 45 °) = 100
100

= tan 60 ° — tan 45 °
100




